BIOLOGY I

OPEN-ENDED ITEM: Genetics
You mate a red-flowered plant with a white-flowered plant.  You expect all the offspring to be red, but you find that half of them are white.

A. (1 pt.) Explain why and use a Punnett square to explain further.





B. (1 pt.) What genotype would the parents have been in order for the results to be those you had expected?  Explain and show the Punnett square.








C. (2 pt.) if the genes for the color had been incomplete dominance, what results would you have obtained and why?








